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Note/dZ: (1] Attemptas many questions as you can. Each ¢question carries 3 marks, One
matk will be deducted for each incotrect answer. Zero mark will be awarded
for each unattempted question.

s el B T TR W T ) s T 3 sw W | R e I
frg v 3% W T | WEE SRRE T W A O )

2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one. ,
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1. Father of Extension education in India is
(1) O.P Dihama (2] K. N Singh (3) Advi Reddy (4} J. B Chitambar

a. Bavistin is which type of Fungicide?
(1} Contact (2) Systemic (3) Biclogical ~ (4) Chemical

(334 | 1 (P.T.O)
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Blast disease of rice can be controlled by

(1) Urea (2) Agrosan (3) BHC (4] DDT

The seed produced from Foua_idatian seeds

{1} Nucleus Seed (2) Foundation Seed

(3) Certified Seed (4) Breeder Seed

If the Income Elasticity of demand is greater than one (> 1), the commodity
will be _

(1) Inferior (2) Necessary (3) Luxury {4) Essential

C.F.T.R.I is located at

(1) New Delhi (2) Mysore {3) Hyderabad (4) .Bangah:u'e

The end product of glycolysis is
(1) Ethanol (2) Pyruvic acid (3) Malic acid - (4} Carbon Dioxide
EDTA Mixture is

(1) Repellant (2) Attractant {3) Fumigant (4) Antifeedant

ANOVA [ Analysis of Variance) is a test for quality of

(1] Variances (2) Proportions (3) Means (4] Two Parameters
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The process of production of nitrate from ammonia through Nitrosomonas is
known as

(1) Ammonification (2) Nitrogen Fixation

(3) ‘Niu'i.ﬁna'.tion | (4) Dinitrification

The relationship between Price and Quantity supplied in the Law of Supply
is

(1} Direct | (2) Indirect [3]. Inv'm-ae {4} Proportionate
Photnpeﬂodicaﬂy’ Rice is &

(1) Short Day Plant | {2} Long Day Plant

(3) Day Neutral Plant (4) C4 Plant

The central Agmark lab is located at

() Musbai  {2) Nagpur (3] Bangalore  {4) Kolkata
Edible banana is

(1) Diploid (2) Triploid (3) Tetraploid (4} Hexaploid
Transgenic variety of tomato is

(1} Firy Ball (2) Pusa Ruby (3} Flavr Savr | (4) Flame

16, The concept of Consumer Surplus was given by

(334}

(1) Alfred Marshall (2) Keynes
(3) Adam Smith " (4} Robinson

3 - . proy
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17.

18.

19.

at.

4a3.

a3,

GNP stands for
(1) Gross Net Product (2) Gross National Product
(3) Gross Nominal Product ~ (4) Gross Non - Product

The Correlation coefficient varies between

(1) Oto 1 @ -1t 0 B} -lto+t (4 >1

~ Concept of Biovillage was proposed by

(1) G. Perumal (2) Anil Gupta
(3) M.S Swaminathan (4) V.L Chopra

' Agarose is extracted from

(1) _Wﬂ&da (2) Seaweed {3} Plants (4) Animals

The market situation, in which there is only one seller of a commodity in the
market, is called

() Oligopoly (2) Monopoly (3) Duopoly (4) Free Market
The state having highest number of KVKs is

{1} Bihar (2) Madhya Pradesh

{3) Uttar Pradesh (4) Maharashtra

A loan taken for a period of 18 months is called

(1} Shert tﬁrm loan {2) Medium term loan

{3) Long term loan -{4) Capital loan



15P/298/4

24. Crop farming and milk pmdﬁction is an example of
(1) - Competitive enterprise {2] Supplementary enterprise
(3) Compiementary enterprise = {4) Exclusive enterprise

‘28, Which is the apex organization fnr'making of co-operative societies at the

national level?
{i) FCI . (2) NCCF
(3} Marketing Bank (4) NAFED

Directiens (Question No. 26 to 34) : Read the following passage carefully and
answer the guestions given below it. Certain words are given in bold in the passage
to help you locate them while answering some of the guestions.

Qwami Vivekanand had said, “So long as the millions live in hunger and
ignorance, 1 hold everyone traitor, who, having been educated at their expense, pays
not the least heed to them”. _ '

This issue has become relewant in the light of the recent fall from grace of the
American capitalist image. The Enron, World.com and Xerox exposures have
revealed the ugly side of Western style capitalism under which, in the quest for
short term gains, wrong doings are overlooked. As a result people have lost trust in
corporate performance and those involved in it.

Further, many of those involved, in these scandals were highly educated. In India
too, we have had our share of such scams in the stock market and the actors
involved in them were educated men.

Earning of profits is, no doubt; the main aim of any business. But, if they are
earned with principles they enrich people’s lives. As the Jagadguru Sankaracharya
says, "All for each and each for all” should be the motto of enlightened men.

JRD Tata used to say “While profit motive, no doubt, provides the main spark for
any economic activity any enterprise which is not meotivated by consideration of
urgent service to the community becomes obsolete soon and cannot fulfill its real
role in modern society”. '

(334) _ 5 (P.T.0)
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When we talk of investing in education, a question arises as to what kind of
education needa to be given to the youngsters. Qur aim is to evolve not only an
affluent society, but an egalitarian, just, humane and compassionate society. For
that we need people who posses not only high skills but high values as well,

So the need of the hour is not only skill-based education but also value-
inspired and value-based education. We can find answer for the present sickness
in contemporary civilization in the Indian philosophy. :

26. According to the author, a true businessman shouid

ar.

(334)

(1} earn profit regardless of any consideration

(2] run business profitably and ethically

(3) conduct business with principles despite making 10351:3

(4) should have least concern for enrichment for people’s lives

The author has pointed out the people involved in scandals and scams were
(}] Social workers (2) Political leaders
(3) Educated people {#) Corporate governors

The author has given the example of Enron, Xerox etc. to emphasize the point
that '

{1} The western style of capitalism is advantageous
(2) Overcoming short-term gains is not desirable

(3) We should build up trust in corporate performance

(4) We should get involved inta long term gains

6



31.

(334

15P/298/4

As per Swami Vivekanand, which of the following will be the most
appropriate definition of “traitor”?

(1} Educated people ignoring the starving and illiterate masses
(2) Millions who live in hunger and ignorance

(3) All those educated people who look after. the masses

(4) All social workers who are duty bound

What are the ultimate expactauons from education to be impm'ted to the
youngsters ?

{(a) To evolve an affluent society

{b} To make pcupie inculcate high values

{cj To help the yauth acquire higher skills,

{1} a and b only {2} b and ¢ only

(3) a and c only : (4) all of the three a,b and ¢
Which of the following can be most appropnate title for the above passage?

(1] Capitalism of the western countries
{2) Profit earning as a business motto

- {3} Establishing communal harmony

(4} Need. for high skill and value-oriented education
What, according to the author, is a way to improve the evils in the society?
(1) Teachings of Indian philosophy

(2) High vaiue-based and skill-based education

(3} Skill oriented training
(4) Contemporary education as in the western countries
7 P.T.0)
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a3.

34,

“All for each, each for all' means

(1) All of us should be having business as motto

(2) Each of us should be concerned for highest profit

(3] All businessman should run business for each of them

(4) Everyone in the ccuntry should loock for the benefits of all the others

Which of the following is the view of JléD Tata a-s. described by the author?
(1} Consideration of urgent service to community should be side lined

(2) The main purpose for any economic activity should be only profitability
(3) Profit should be earned with due consideration to social service

(4] Motivation to earn profit has become an outdated concept

Directions (Question No. 35 to 37) : Choose the word which is MOST NEARLY
THE SAME in meaning as the word written in bold.

38,

36.

37.

{334)

Quest .

(1) Search (2) Quality (3) Zeal (4) Enthusiasm
Evolve

(1) Involve (2) Develop (3) Generate (4) Envisage
Obsolets

(1) Complete (2] Unreliable (3) Unimaginable (4] Outdated

8
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Directions (Question No. 38 to 40) : Choose the word which is MOST OPPOSITE
in meaning as the word written in bold. '

38. Affluent
(1) Responsible (2] Inconsiderate (3) Unrealistic {4) Deprived

39. Relevant

(1) Relative (2) Irregular (3} Unrelated (4) - Irrespective
40, hlilhhn&d

(1) Ignorant (2) Unimaginative {3) Impolite (4) Rustic

Directions (Question No. 41 to 48) : In the ful]nwing questions, four alternatives
are given for the idiom/phrase Bold printed in the sentence. Choose the
alternative which best expresses the meaning of the idiom/phrase.

41. She tries very hard to keep up with her rich neighbours
(1) to imitate (2) to keep in touch

(3) to avoid (4) to be on par

42. The poet drew on his fancy not his knowledge of nature, when he wrote
his poem on birds
(1) used his understanding (2) used his knowledge : &
(3) used his imaginetion {4} used his skill

43. Heisnotth:anrtafmnntq_htthtwwunduhhﬁnt
(1} to remain idle (2) to be generous
(3) to be stingy (4) to be impatient

(334 9 (P.T.0.)
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48,

47.

49,

{334)

The boy takes after his father |
(1) Resembles (2] Likes . (3) Looks after  (4) Runs after

The saint's life was an open book
(1) An uncomplicated one (2) One that held no secrets
(3) An example to all (4} An interesting biography

A train running at the speed of 60 km/hr crossss a pole in 9 seconds.
What is the length of the train?

{1} 120 metres (2} 180 metres .(3) 324 metres  (4) 150 metres

If 20 % of x is 60, then 15 % of x is

{1} 45 (2) 54 (3) 48 ' (4) 55

Three times the first of three consecutive odd integers is 3 more than twice
the third. The third integer is

(1) 9 {2) 11 (3) 13 (4) 15

A polygon has 44 diagonals. Then the numbers of its sides are

(1} © (2) 11 {3 7 (4} 13

A can do a work in 15'days and B in 20 days. If they work on it together
for 4 days, then the fraction of the work that is left is

(1) 1/4 @) 1710 (3} 7/15 4) 8/15

10



81,

83.

55.

56.

57.

(334)

15P/298/4

The graph Y= 5 cuts the graph of X+¥ = 9 at which point?
(1) {4.5 (2) (©:9) 3} (5,9) 4) (5,0

A is two years older than B who is twice as old as C. If the total of the ages
of A, B and C be 27, then how old is B?

m 7 (2) 8 (3) @ (4) 10

Rs. 12b is divided among X, Y, Z so that X’s share is Rs. 20 more than Y’s
share and Rs. 20 less than Z's share. What is Y's share?

(1} Rs. 40 (2) Ra 60 (3) Re. 20 (4) Rs. 50

The ratio of the area of a square to that of a square drawn on its diagonal is
(1) 1:2 @21 @) 1:4 @) 411

X% of Y is Y% of what?
(1) X (2) 100X 3} Y . (4) 100Y

A series of discounts of 20%, 10% and 10% is equivalent to a single

~ discount of (approx)

{1} 45% (2) 40% (3) 35% . (4) 30%

Mr. singh buys 11 candles for Rs. 10 and sells them at 10 for Rs. 11.
Mr. Singh's gain percent is -
(1) 0% . (2) 2!% {3 1% 4) 23%

A person crosses a 600m long street in 5 minutes. What is his speed in km
per hour? _ '

(1) 3.6 (2) 7.2 (3) 8.4 (4} 10

11 | (P.T.0,)
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6l.

(334}

Walking at 3/4 of his actual pace, a man reaches his office 20 min. late.
His usual time is

(1) 1 hour (2) 3 hour (3) 4 hour (4) 5 hour

A sum of Rs 12,500 amounts to Rs. 15,500 in 4 years at the rate of simple
interest, What is rate of interest ?

1) 3% - (2) 4% (3) 5% (4) 6%

RBl was nationalized in the year

(1) 1950 ' {2) 1949 (3) 1948 .{4] 1951
World Environment day is celebrated on

(1) May 5 {2} June 5 [3) July 5 (4} August 5
In a computer most processing takes place in |

{1} Memory (2] RAM {3) Motherboard (4) CPU

Who has won sports illustrated sportsperson of the year 20137
(1) Sania Mirza _ (2} Virat Kohli

(3) Sachin Tendulkar _ (4} P.V Sindhu

'Which of the following is net a mode of foreign capital inflow in India ?

(1) FDI (2) NRI deposits (3) F1I (4) No frills account
Aseel and Plymouth Rock are the important varieties of
(1) Mushroom  {2) Poultry (3) Sea rocks  {4) Earthworm

12
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Who has been recently elected as the Governor of Reserve Bank of india?
(1) H.R Khan (2) D. Subba Rao

(3} C. Raghuram Rajan (4] Vimal Jalan

Indian Planning Commission was constituted in "

(1) 1948 (@) 1949 (3] 1950 (4) 1951

Which city will host the 2020 Olympic Games?

(1) Durban (2) London (3] Madrid  ~  {4) Tokyo

Who is the actor of the film Bhag Milkha Bhag?

(1) Farhan Akhtar(2} Salman Khan (3] Aamir Khan (4) Ajay Devgan

Which of these are a public sector bank?
(1) ICICI Bank  (2) Axis Bank (3} Dena Bank  (4) HSBC Bank

India’s first mission to which planet Blasted off sucucssﬁ.ﬂly completing the
first stage of an 11 months journey?

(1) Venus (2) Jupiter (3) Mars . [4) Satum

Which Company have bbught Nokia?
(1) Microsoft (2) Samsung (3) Apple (4) Sony

Rearing of Honeybee is known as
(1) Pisiculture  (2) Sericulture  (3) Vermiculture (4} Apiculture

The scientific study of Atmosphere is known as
{1} Meteorology (2} Physiology. (3) Metallurgy {4} Entamology

13 (P.T.0.)
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Directions (Question No. 76 to 80} : Study the following table and answer the
questions based on it.

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Item of Expenditure

Year Salary Fuel and Transport | - Bonus | Interest on Loans | Taxes
1998 | 288 98 3.00 23.4 83
1999 | 342 112 - 2.52 32.5 108
2000 | 324 101 384 416 | T4
2001 | 336 1133 368 | . 364 - 68
2002 | 420 142 - 3.96 404 98
76. What is the average amount of intereat per year which the company had to

pay during this pericd?

(1) Rs. 32.43 lakha (2) Rs. 33.72 lakhs

(3) Rs. 34.18 lakhs _ {4) Re. 36.66 lakhs
77. The total amount of bonus paid by the company during the given period is

approximately what percent of the total amount of salary paid durmg this

period?

(1) 0.1% (2) 0.5% (3) 1% (4) 1.25%
78. Total expenditure on all these items in 1998 was appm:nmat:ly what

(334)

percent of the total etpcndlturz in 20027
(1) 62% (2) 66% {3) 69% 4 T1%

14
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The total expenditure of the company over these items during the year
2000 is?

(1} Rs. 544.44 lakhs (2) Rs. 501.11 lakhs
(3) Rs. 446.46 lakhs ' (4) Rs. 478.87 lakhs

The ratio between the total expenditure on Taxes for all the years and the

total expenditure on Fuel and Transport for all the years is approximately?
(1} 4:7 (2) 10:13 (3) 15:18 (4) 5:8

Directions (Question No. B1 to 88} : Study the bar graph carefully and answer the
questions given below it. :

A soft drink company prepares drinks of three different flavors of X, ¥ and Z. The
production of three flavors over a period of six years has been expressed in the bar
graph provided below. ' ' '
Production of Three Differont Plavors X, ¥ and Z by a Company over the years
{in lakh bottles) ' :

(334)

EX BY B2
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sll

82,

s‘.

(334)

The total production of flaver Z in 1997 and 1998 is what perccntage of the
total preduction of flavor X in 1995 and 19967

{1} 96.67% (2) 102.25%

{3} 115.57% (4) 133.33%

For which flavor was the average annual production maximum in the given
period? |

() X only @y ﬂﬁly _

(3} Z only | (4) X and Y

‘What is the difference between the average production of flavor X in 1995,

1996 and 1997 and the average production of flavor Y in 1998 1999 and
20007

(1) 50,000 bottles (1) 80,000 bottles

(3) 2,40,000 botttes (4} 5,00,000 bottles

What was the approximate decline in the production of flavor Z in 2000 as
compared to the production in 19987

{1) 50% O {2) 42% S (ay 33% 4) 25%

For which of the following years the percentage of rise/fall in production
from the previous year is the maximum for the flavor Y?

(1) 1996 (2} 1997 (3) 1998 ' (4) 1999
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Directions (Question No. 86 to 90) : Study the circle graph carefully and answer
the questions given below it. '

The circle-graph given here shows the spending of a country on various sports
during a particular year.

87.

(334)

What percent of toial spending is spent on Tennis?

() 12.1 % (2} 22.1% (3) 25% (4) 45%

How much percent more is spent on Hockey than that on Golf?

0 27% (2) 35% (3) 37.5% (4) 75%

If the total amount spent on sports during the year be Rs. 1,80,00,000, the
amount spent on. Basketball exceeds on Tennis by

{1} Rs. 2,50,000 (2) Rs. 3,60,000

{3} Rs. 3,75,000 4} Rs, 4,10,000

17 . (PT.0O)
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91,

92.

(334}

How much percent less is spent on Football than that on Cricket?

2 1 1,
(1) 25% (2) 27% (3) 333% @ 3??3

If the total amount spent an'apnrta during the year was Rs. 2 crores, the
amount spent on Cricket and Hoclisy. tpgether was

(1) Rs. 8,00,000

-»;;E{gh. ey :

(3) Rs. 1,20,00,000 - ¢ {4] . 1,60,00,000

Whatmthe&*htturtnthcngﬁtnfﬁ*l&thrfmmwur right in the
following series?

ABCDEFGH!JKLMHO?QRSTUVWXYZ

(1) © 2) D . (3) C 4) B

Find out the odd letter group out

(1) KMPTZ (2) DFIMR {3) HIMQV (4) ACFJO

The word which cannot be formed fmm the letters used in the word
“EXAMINATION" is

(1} MAINTAIN (2) MAXIMUM (3) NOMINATION (4] TAXATION

If all the numbers from 1 w 73, which are divisible by 7 are arranged in
descending order, then which numbers will be at 8% and 5* position?

{1} 21, 42 (2} 28, 42 3) 21, 56 (4) 14, 49

18
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OB, A man is facing west, He turns 45° in the ciockwise direction then another
180° in the same direction and then 270° in the anti-clockwise direction.
Which direction he is facing now? - -

{1} South-west (2) North-west (3) West (4) South

96. In this question below is given a statement followed by two assumptions
numbered | and II. You have to consider the statement and the following
assumptions and decide which of the assumptions is implicit in the
statement. '

Give answer

{a) If only assumption I is implicit
{b) If only assumption Il is implicit
fc) If either I or 11 is umplicit

{d) If neither [ nor Ii is implicit

Statement: “Computer education should start at schools itseif.’
Assumptions :

I. Learning computers is easy.

. Computer education fetches jobs easily.

(1) Only assumption I is implicit

(2) Only assumption II is implicit

(3} Either I or II is implicit

{4) Neither I nor 1l is implicit

(334) 19 | - (rro)
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97

8.

100.

S:xsmdentsa B, C, D, E and F are sitting in a field. AandBarefrom
Deﬂuwhﬂetherestml‘mmBan@iore D and F are tall while others are
short, A, C and D are girls while others are boys. Wtuch:athctal!glrlfmm
Bangalore? '

(1) F @ D @ E @ c

Mohan ranks seventh from the top and twenty sixth from the bott.nm ina
class. How many students are the.re m the class?

(1) 30 {2} 33 [3) 34 {4) 32

If 'x' means ‘+’, ‘+' means ‘- "' ‘- ' means ‘x’ and ‘+’ means ‘'+’, then
what is the value of 8 x 7 - B+40+2

(1) 44 (2) 43/5 (3 37/5 4 1

Replace the ciuestion mark plug, qmah, evil, iwom, made, ?

(1) neeo (2) nuea {3} nbef. (4) neei

* k&

20 D/5 (334)-500
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